
 

Tel: 0044 1732 463 600 E-mail: shop@gigglepin4x4.net Web: www.gigglepin4x4.net 

Address: Unit 10 Gaza Trading estate, Scabharbour Road, Hildenborough, Kent, TN11 8PL - UK 

GP Extended Motor Bolts G10001  

Fitting Guide 

Gigglepin Extended Motor Bolts 

 

 

Tools Required: 

• 10mm spanner 

• 7.5mm Drill Bit 
• Copper Grease (Or Similar) 

  
Installation Guide: 

 
Step 1: 

 
 

Step 2: 

 
 

Step 3: 

  

 
Remove motor bolts from packaging. Remove nuts, 
washers & “O” rings from motor bolts. Apply Copper 
Grease to coarse threaded end of bolts. Screw into winch 
housing until thread is no longer visible. 
 
If using Bow Motor 1 or 2. Remove the motor end cap, 
take your 7.5mm drill bit and drill out the bolt holes in the 
brush mount plate. Re-fit the motor end cap. 
 
Slide the motor over the motor bolts until the motor is 
home. Take the “O” Rings and fit one to each motor bolt, 
now fit the 2 flange nuts. Tighten flange nuts until motor is 
secure.  
 
Using your 7.5mm drill bit, drill out the Albright Solenoid 
mounting bracket. Fit one M8 flat washer to each motor 
bolt & slide the solenoid on, then fit the second M8 flat 
washer to each motor bolt followed by the M8 Nyloc nut. 
Tighten Nyloc until solenoid is secure. 
 
To wire your Albright solenoid please refer to instructions 
provided when purchased. 

  
 

  

http://www.gigglepin4x4.net/


 

Tel: 0044 1732 463 600 E-mail: shop@gigglepin4x4.net Web: www.gigglepin4x4.net 

Address: Unit 10 Gaza Trading estate, Scabharbour Road, Hildenborough, Kent, TN11 8PL - UK 

GP Extended Motor Bolts G10001 

Fitting Guide 

Gigglepin Extended Motor Bolts 

 

 

Tools Required: 

• 10mm spanner 

• 7.5mm Drill Bit 
• Copper Grease (Or Similar) 

  
Installation Guide: 

 
Step 1: 

 
 

Step 2: 

 
 

Step 3: 

  

 
Remove motor bolts from packaging. Remove nuts, 
washers & “O” rings from motor bolts. Apply Copper 
Grease to coarse threaded end of bolts. Screw into winch 
housing until thread is no longer visible. 
 
If using Bow Motor 1 or 2. Remove the motor end cap, 
take your 7.5mm drill bit and drill out the bolt holes in the 
brush mount plate. Re-fit the motor end cap. 
 
Slide the motor over the motor bolts until the motor is 
home. Take the “O” Rings and fit one to each motor bolt, 
now fit the 2 flange nuts. Tighten flange nuts until motor is 
secure.  
 
Using your 7.5mm drill bit, drill out the Albright Solenoid 
mounting bracket. Fit one M8 flat washer to each motor 
bolt & slide the solenoid on, then fit the second M8 flat 
washer to each motor bolt followed by the M8 Nyloc nut. 
Tighten Nyloc until solenoid is secure. 
 
To wire your Albright solenoid please refer to instructions 
provided when purchased. 

  
 

 

http://www.gigglepin4x4.net/

